8  Which model represents the number sentence (-3) o 2 = -6?
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10 which equation is represented by the model?
' :: 42
) T e R
I | s | P |
4] ;3 2 3 4 5 6 F 4 8 10
A44)=8
B 4(2) = 8
C8-4=4

D8+4=4




Identify each model that illustrates multiplication of integers.
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13 which expression represents the following model?
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A 5(-4) = -20
B 4 (-5) = 20
C 4(-5) =-20
T D 5(4)=-20
12 Which number sentence is represented by this model?
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A-407=28
B -4¢7=_28
C4e(-7)=28




17 which number sentence represents the following model?
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A5e¢3=15
B -5¢(-3)=-15
C -5¢(3)=-15
D -5¢(-3)=15
1. Solve each muliiplication. Model parts a, b, and c.
a) (-6) x (+2) b) (+3) x {-4)
c) (-3)x(+4) d) (-7) x (+7)

e) (-8)x(+7) ) (-10) x (+19)
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25 which number sentence is represented by this model?

O |6606
000 |06
Q00O+000
OO |66006
CRD |06
e
®-+1 Q-
A -3e¢5=15
B -3¢5=-15
C -3¢(-5)=15

D -3¢ (-5)=-15



